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cu A system is described by the difference equation

4 \z[n] = x[n] - 2x[n - 6]
é a) Emeute !I{EJ'“") of the system.
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b) Determine the output of the system for the following input:
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Q2. For the sequenceafn]={| 2! é
a) Find the D, matrix.
bl Find X[kl k=0, 1. {The DFTﬂfx[l'l]].

c) Find the D, 'matrix.
d) Find the IDFT of X([k].
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Q3. Let X[k, 0 < k < 3, be a 4- -point DFT of a 4- -length real sequence x|n], given by:
o i 2 3 . ’_.1 ——
Xkl={6 =1-;° 0 =14j) 5
Evaluate the following functions of x[n] without computing the IDET of X[k}:
a) x[0] b) x[2] ) Xheo x[n] d) Ei oo /™ x[n] e) Emlﬂr[n}!2
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Q5. The transfer function of a causal LT) discrete-time system is given by G,
> x
e -1 =
H(z) = 0.5 - 0.3z .
1403271
a) Determine the impulse response hIn] of the system.
b) Determine the output of the system y[n] if the input x[n] = (0.2)"u[n].
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Q5. The transfer function of
! acausal LT discrete-time i
ystem is given by
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z: Determine the impulse response hin] of the system /
Determine the out :
put of the syst i i II
" ystem y[n] if the input x[n] = (0.2)"u[n).
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